



 EMBED PhotoshopElements.Image.2 \s [image: image1.png]Reminder:
Simplification of Rational Expressions

If a, b, and r are real numbers with b # 0 and r = 0, then
asr _a

ber b






 EMBED PhotoshopElements.Image.2 \s [image: image2.png]A rational algebraic expression is a quotient of polynomials.

To simplify rational algebraic expressions:

1) Factor the numerator completely.

2) Factor the denominator completely.

3) Simplify (reduce) any like FACTORS (not terms).





[image: image3.png]Explain what mistake was made when simplifying the
following problems.
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[image: image5.png]You can only simplify or reduce factors, not terms.
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[image: image8.png]Ex 3) Simplify (watch for additive inverses or opposites):
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[image: image9.png]A rational function is a function that is defined by a simplified
rational expression in one variable.
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[image: image10.png]4a) Find the domain of f{x).
(Hint: What values of x are not allowed in the denominator?
Remember we can't have zero in the denominator of a fraction.)
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[image: image12.png]4b) Find the zeros of f. if any:
Hint: set the factors of the numerator equal to zero using the
Zero Product Property to find the zeros of the functions.
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